



William Jessup University collects and publishes data related to its athletic programs on a yearly basis. It is our pleasure to share this information with current and prospective students

The following data concerns WJU students and faculty between July 1st, 2021 and June 30th, 2022. <u>964</u> undergraduate students were enrolled full time at William Jessup University during this time period. Of these students, <u>407</u> were male, and <u>557</u> were female.

Varsity Teams	Number of participants as o	of the day of the first scheduled contest
	Men's Teams	Women's Teams
Baseball	54	
Basketball	19	20
Golf	11	10
Soccer	27	32
Softball		23
Track and Field, Indoor	0	12
Track and Field, Outdoor	17	18
Track and Field, X-Country	8	9
Volleyball		17
Tennis	4	8
Other Sports (Varsity STUNT)		33
Total Participants Men's and Women's Teams	150	191
Unduplicated Count of Participants (Number of individuals who participated on at least one varsity team.)	139	168

#### Head Coaches - Men's Teams

	Male Head Co	aches			Female Head Coaches				TOTAL HEAD
Varsity Men's Teams	Assigned to Team on a Full- Time Basis	Assigned to Team on a Part- Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Assigned to Team on a Full- Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	COACHES
Baseball	1		1						1
Basketball		1	1						1
Golf		1	1						1
Soccer	1		1						1
Track and Field and Cross Country (Combined)		1	1						1
Tennis		1	1						1
Coaching Position Totals	2	4	6	0	0	0	0	0	6

#### Head Coaches - Women's Teams

	Male Head Co	aches			Female Head Coaches				TOTAL HEAD
Varsity Women's Teams	Assigned to Team on a Full- Time Basis	Assigned to Team on a Part- Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Assigned to Team on a Full- Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	COACHES
Basketball	1		1						1
Soccer	1		1						1
Softball						1	1		1
Track and Field and Cross		1	1						1
Volleyball	1		1						1
Golf		1	1						1
Tennis		1	1						1
Other Sports (STUNT)					1		1	0	1
Coaching Position Totals	3	3	6	0	1	2	2	0	8

#### Assistant Coaches - Men's Teams

	Male Assistan	t Coaches			Female Assist	ant Coaches			TOTAL
Varsity Men's Teams	Assigned to Team on a Full- Time Basis	Assigned to Team on a Part- Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Assigned to Team on a Full- Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	ASSISTANT COACHES
Baseball	1	4	1	4					5
Basketball	2	2	2	2					4
Golf						1		1	1
Soccer		4		4					4
Track and Field, Cross Country (Combined)		3	1	2		3	1	2	1
Tennis		1		1					6
Coaching Position Totals	3	1 12	4	1	1	1	1	1	21

## Assistant Coaches - Women's Teams

	Male Assistant	t Coaches			Female Assistant Coaches				TOTAL
Varsity Women's Teams	Assigned to Team on a Full- Time Basis	Assigned to Team on a Part- Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Assigned to Team on a Full- Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	ASSISTANT COACHES
Basketball		1		1	2		2		3
Soccer		4		4		1		1	5
Softball	1	1	1	1		1		2	3
Track and Field, Cross Country (Combined)		3	1	2		3	1	2	6
Golf						1		1	1
Volleyball		1		1		2		1	3
Tennis		1		1					1
Other Sports (STUNT)						1		1	1
Coaching Position Totals	1	11	2	10	2	9	3	8	23

## Head Coaches' Salaries

	Men's Teams	Women's Teams
Average Annual Institutional Salary per Head Coach	\$38,972.00	\$41,851.00
Number of Head Coaches Included in Average	6	8
Average Annual Institutional Salary per FTE	\$62,355.00	\$60,875.00
Number of FTEs Included in Average	3.75	5.5

## **Assistant Coaches' Salaries**

	Men's Teams	Women's Teams
Average Annual Institutional Salary per Assistant Coach	\$9,116.00	\$8,572.00
Number of Assistant Coaches Included in Average	16	21
Number of Volunteer Assistant Coaching Positions	5	2
Average Annual Institutional Salary per FTE	\$24,108.00	\$20,203.00
Number of FTEs Included in Average	6.05	8.91

# Athletically Related Student Aid

	Men's Teams	Women's Teams	Total
Total	\$1,824,614.00	\$2,284,665.00	\$4,109,279.00
Ratio (percent)	44%	56%	100%

## **Recruiting Expenses**

	Men's Teams	Women's Teams	Total
Total	\$11,359.00	\$16,452.00	\$27,811.00

# Operating (Game-Day) Expenses by Team

		Men's Teams		Women's Teams			
Varsity Teams	Participants	Operating Expenses per Participant	By Team	Participants	Operating Expenses per Participant	By Team	TOTAL OPERATING EXPENSES
Basketball	21	\$2,320.00	\$48,713.00	24	\$2,453.00	\$58,780.00	\$107,583.00
Baseball	49	\$1,346.00	\$65,956.00				\$65,956.00
Golf	8	\$1,780.00	\$14,239.00	8	\$2,823.00	\$22,581.00	\$36,820.00
Soccer	31	\$936.00	\$29,031.00	25	\$827.00	\$20,673.00	\$49,704.00
Softball				24	\$1,894.00	\$45,450.00	\$45,450.00
Track and Field, Cross Country (Combined)	24	\$1,257.00	\$30,165.00	37	\$1,224.00	\$45,297.00	\$75,462.00
Volleyball				27	\$944.00	\$25,501.00	\$25,501.00
Tennis				8	\$1,183.00	\$9,463.00	\$9,463.00
Stunt				35	\$409.00	\$14,316.00	\$14,316.00
Total Operating Expenses Men's and Women's Teams	133		\$188,104.00	188		\$24,151.00	\$430,255.00

# Total Expenses by Team

Varsity Teams	Men's Teams	Women's Teams	Total
Basketball	\$619,426.00	\$585,636.00	\$1,205,062.00
Total Expenses of all Sports, Except Football and Basketball, Combined	\$1,807,986.00	\$2,357,043.00	\$4,165,029.00
Total Expenses Men's and Women's Teams	\$2,427,412.00	\$2,942,679.00	\$5,370,091.00
Not Allocated by Gender/Sport			\$1,599,999.00
Grand Total Expenses			\$6,970,090.00

Total Revenues by Team								
Varsity Teams	Men's Teams	Women's Teams	Total					
Basketball	\$624,251.00	\$591,689.00	\$1,215,940.00					
Total Revenues of all Sports, Except Football and Basketball, Combined	\$1,808,432.00	\$2,357,043.00	\$4,165,475.00					
Total Revenues Men's and Women's Teams	\$2,432,683.00	\$2,948,732.00	\$5,381,415.00					
Not Allocated by Gender/Sport			\$1,599,999.00					
Grand Total for all Teams (includes by team and not allocated by gender/sport)			\$6,981,414.00					

Revenues & Expenses Summary				
	Revenues and Expenses Summary	Men's Teams	Women's Teams	Total
1	Total of Head Coaches' Salaries	\$190,745.00	\$318,267.00	\$509,012.00
2	Total of Assistant Coaches' Salaries	\$141,162.00	\$158,695.00	\$299,857.00
3	Total Salaries (Lines 1+2)	\$331,907.00	\$476,962.00	\$808,869.00
4	Athletically Related Student Aid	\$1,694,933.00	\$1,980,741.00	\$3,675,674.00
5	Recruiting Expenses	\$8,449.00	\$9,100.00	\$17,549.00
6	Operating (Game-Day) Expenses	\$188,104.00	\$242,151.00	\$430,255.00
7	Summary of Subset Expenses (Lines 3+4+5+6)	\$2,223,393.00	\$2,708,954.00	\$4,932,347.00
8	Total Expenses for Teams	\$2,427,412.00	\$2,942,679.00	\$5,370,091.00
9	Total Expenses for Teams Minus Subset Expenses (Line 8 – Line 7)	\$204,019.00	\$233,725.00	\$437,744.00
10	Not Allocated Expenses			\$159,999.00
11	Grand Total Expenses (Lines 8+10)			\$6,970,909.00
12	Total Revenues for Teams	\$2,432,683.00	\$2,948,732.00	\$5,381,415.00
13	Not Allocated Revenues			\$1,599,999.00
14	Grand Total Revenues (Lines 12+13)	-		\$6,981,414.00
15	Total Revenues for Teams minus Total Expenses for Teams (Line 12-Line 8)	\$5,271.00	\$6,053.00	\$11,324.00
16	Grand Total Revenues Minus Grand Total Expenses (Line 14- Line 11)	-		\$11,324.00